Adaptiertes (QCIELAB ( C*,p, o L*) und relativesCIELAB ( C*japr, * jap+)
LG40_sRGB display 0%_Fadin Flape=(L* =¥ )/ L w -L* )

Buntton: h* =151/360;h* =354/360.+  _~x *
E00C NS8O €*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit — I*ap«

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, o L*) und relativesCIELAB ( C*japr, I* jap+)
LG40_sRGB display 0%_Faeit

Buntion: haoog=162/3601 gs0r=3201360 . o) Ewtn)
eI i g SN0 C*lab=C*ab,al C*abam
M=Maximalfarbe

relative Helligkeit I*a/b«L

T

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
LG40_sRGB display 0,6%_Fadin Flape=(L* =¥ )/ L w -L* )

Buntton: h* =151/360;h* =354/360.+  _~x *
E00C NS8O €*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit  I*ap«

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
LG40_sRGB display 0,6%_Faeit

Buntion: haoog=162/36011 as0r=3201360 % o) Ewtn)
eI i g SN0 C*lab=C*ab,al C*abam
M=Maximalfarbe

relative Helligkeit I*a/b«L

T

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, I* jap+)
LG40_sRGB display 1,2%_Fadin Flape=(L* =¥ )/ L w -L* )

Buntton: h* =151/360;h* =354/360.+  _~x *
E00C NS8O €*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit  I*ap«

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
LG40_sRGB display 1,2%_Faeit

Buntion: haoog=162/36011 aser=3201360 %l o) Ew )
eI i g SN0 C*lab=C*ab,al C*abam
M=Maximalfarbe

relative Helligkeit I*eiL

T

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
LG40_sRGB display 2,5%_Fadin Flape=(L* =¥ )/ L w -L* )

Buntton: h* =151/360;h* =354/360.+  _~x *
E00C NS8O €*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit  I*ap«

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
LG40_sRGB display 2,5%_Faeit

Buntion: haoog=162/36011 as0r=3201360 %l o) Ew )
eI i g SN0 C*lab=C*ab,al C*abam
M=Maximalfarbe

relative Helligkeit I*ei

T

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, o L*) und relativesCIELAB ( C*japr, * jap+)
LG40_sRGB display 5%_Fadin Flape=(L* =¥ )/ L w -L* )

Buntton: h* =151/360;h* =354/360.+  _~x *
E00C NS8O €*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit — I*ap«

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, o L*) und relativesCIELAB ( C*japr, * jap+)
LG40_sRGB display 5%_Faeit

Buntion: haoog=162/3601"gs0r=3201360 % o) Ew )
eI i g SN0 C*lab=C*ab,al C*abam
M=Maximalfarbe

relative Helligkeit I*ei

T

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
LG40_sRGB display 10%_Fadin Flape=(L* =¥ )/ L w -L* )

Buntton: h* =151/360;h* =354/360.+  _~x *
E00C NS8O €*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit — I*ap«

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
LG40_sRGB display 10%_Faeit

Buntion: haoog=162/3601 as0r=3201360 . o) Ewm )
eI i g SN0 C*lab=C*ab,al C*abam
M=Maximalfarbe

relative Helligkeit I*ﬂ

T

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
LG40_sRGB display 20%_Fadin Flape=(L* =¥ )/ L w -L* )

Buntton: h* =151/360;h* =354/360.+  _~x *
E00C NS8O €*lap*=C*aba/ C*an.am

M=Maximalfarbe

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
LG40_sRGB display 20%_Faeit

Buntion: haoog=162/3601 as0r=3201360 . o) E W)
eI i g SN0 C*lab=C*ab,al C*abam
M=Maximalfarbe

relative Helligkeit I*a/b«L

T

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
LG40_sRGB display 40%_Fadin Flape=(L* =¥ )/ L w -L* )

Buntton: h* =151/360;h* =354/360.+  _~x *
E00C NS8O €*lap*=C*aba/ C*an.am

M=Maximalfarbe

relative Helligkeit

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
LG40_sRGB display 40%_Faeit

Buntion: haoog=162/3601 as0r=3201360 . o) W)
eI i g SN0 C*lab=C*ab,al C*abam
M=Maximalfarbe

relative Helligkeit I*i

T

relative Buntheit c*|p




